
61. Решить уравнение 
cos cos3 sin 2 2sin 2 sin sin 2 0 sin 2 (2sin 1) 0x x x x x x x x− = ⇔ − = ⇔ − = ⇔  

2sin 2 0sin 2 0
212sin 1 0 6sin

2 5 2 :
6

kx
xx

x k
x x

x k k

π =
== π⇔ ⇔ ⇔ = + π − = =   π = + π ∈


!

. 

Ответ: 5; 2 ; 2 :
2 6 6
k k k kπ π π + π + π ∈ 

 
! . 

 
62. решить уравнение 

cos 2 cos 4 sin 6 2sin 3 sin 2sin 3 cos3 0x x x x x x x− = ⇔ − = ⇔  

2sin 3 (sin cos3 ) 0 sin3 sin sin 3 0
2

x x x x x x π ⇔ − = ⇔ − − = ⇔    
 

sin 3 2sin 2 cos 0 sin 3 sin 2 cos 0
4 4 4 4

x x x x x x π π π π       ⇔ − − = ⇔ − − = ⇔                
 

sin 3 0 3
3

sin 2 0 24 4 8 2
:cos 0 :4 24 4

kx xx k

x kx k x

x k kx x k k

π= == π  π   π − =  π π− = π  ⇔ ⇔ ⇔ = +     π ππ  π− = + π ∈− =   = − − π ∈   
! !

. 

Ответ: ; ; :
4 8 2 3

k kk kπ π π π − − π + ∈ 
 

! . 

 
63. Решить уравнение 

4 4 2 2sin 2 cos sin sin 2 cos sin sin 2 cos
2 2 2 2
x x x xx x x x= − ⇔ = − ⇔ = ⇔  

cos 0
2sin cos cos 0 cos (2sin 1) 0

2sin 2 1 0
x

x x x x x
x

=
⇔ − = ⇔ − = ⇔ ⇔ − =

 

2cos 0
21 6sin

2 5 2 :
6

x k
x

x k
x

x k k

π = + π
= π⇔ ⇔ = + π =  π = + π ∈


!

. 

Ответ: 5; 2 ; 2 :
2 6 6

k k k kπ π π + π + π + π ∈ 
 

! . 

 
64. Решить уравнение 

2 4 4 2 2 2 2sin cos sin sin cos sin sin cos
2 2 2 2
x x x xx x x x= − ⇔ = − ⇔ = ⇔  

2 2

1 5cos 1
21 cos cos cos cos 1 0

1 5cos
2

x
x x x x

x

 − −= < −
⇔ − = ⇔ + − = ⇔ ⇔
 − +=


 



1 5arccos 2
21 5cos

2 1 5arccos 2 :
2

x k

x

x k k

  − += − + π   − +  ⇔ = ⇔   − + = + π ∈    
!

. 

Ответ: 1 5 1 5arccos 2 ; arccos 2 :
2 2

k k k
    − + − + − + π + π ∈            

! . 

 
65. Решить уравнение 

2 2cos2 2(cos sin ) cos sin 2(cos sin ) 0x x x x x x x= − ⇔ − − − = ⇔  
(cos sin )(cos sin ) 2(cos sin ) 0x x x x x x⇔ − + − − = ⇔  

(cos sin )(cos sin 2) 0 2 sin 2 sin 2 0
4 4

x x x x x x π π   ⇔ − + − = ⇔ − + − = ⇔        
 

sin 0 sin 0
4 4

sin 0
4

2 sin 2 0 sin 2 решений нет
4 4

x x
x

x x

 π π   − = − =     π      ⇔ ⇔ ⇔ − = ⇔  π π     + − = + = −        

 

: :
4 4

x k k x k kπ π⇔ − = π ∈ ⇔ = − π ∈! ! . 

Ответ: :
4

k kπ − π ∈ 
 

! . 

 
66. Решить уравнение 

2 cos3(cos6 1)ctg3 sin3 2sin 3 sin 3
sin 3

xx x x x x
x

− = ⇔ − = ⇔  

1 12cos3 1 cos3 cos3 1cos32 2
sin 3 0 2sin 3 0 | cos3 | 1

x x x
x

x x x

 − = = − = −  ⇔ ⇔ ⇔ ⇔ = − ⇔  ≠  ≠ ≠ 
 

2 2
9 3

4 2 :
9 3

kx

kx k

π π = +
⇔ 

π π = + ∈
!

. 

Ответ: 2 2 4 2; :
9 3 9 3

k k kπ π π π + + ∈ 
 

! . 

 
67. Решить уравнение 

1sin sin 5 cos4 (cos4 cos6 ) cos4 0
2

x x x x x x= ⇔ − − = ⇔  

cos 0
cos6 cos4 0 2cos5 cos 0 cos cos5 0

cos5 0
x

x x x x x x
x
=

⇔ + = ⇔ = ⇔ = ⇔ ⇔ =
 

22 :
10 5:5 :

10 52

x kx k kx k
kx kx k k

ππ  = + π= + π  π π⇔ ⇔ ⇔ = + ∈
π ππ  = + ∈= + π ∈  

!
!!

. 

Ответ: :
10 5

k kπ π + ∈ 
 

! . 

 
68. Решить уравнение 



1cos cos3 cos2 (cos4 cos2 ) cos2 0
2

x x x x x x= ⇔ + − = ⇔  

sin 0
cos4 cos2 0 2sin3 sin 0 sin sin3 0

sin 3 0
x

x x x x x x
x
=

⇔ − = ⇔ − = ⇔ = ⇔ ⇔ =
 

:
3 : 3:

3

x kx k kx kkx k k x k

= π= π π⇔ ⇔ ⇔ = ∈π = π ∈ = ∈ 
!

! !
. 

Ответ: :
3
k kπ ∈ 

 
! . 

 
69. Решить уравнение 

23cos 2sin 0sin3cos 2 tg 0 3cos 2 0
cos cos 0

x xxx x x
x x

 + =
+ = ⇔ + = ⇔ ⇔

≠
 

2 23(1 sin ) 2sin 0 3sin 2sin 3 0
cos 0 cos 0

x x x x
x x

 − + = − − =
⇔ ⇔ ⇔ 

≠ ≠ 
 

1 10sin
3 1 10 1 10sin sin

3 31 10sin р. нет cos 0 | sin | 13
cos 0

x
x x

x x x
x

  −=   − −  = =  ⇔ ⇔ ⇔ ⇔  += −  ≠ ≠  
≠

 

1 10arcsin 2
31 10sin

3 1 10arcsin 2 :
3

x k

x

x k k

  −= + π   −  ⇔ = ⇔   − = π − + π ∈    
!

. 

Ответ: 1 10 1 10arcsin 2 ; arcsin 2 :
3 3

k k k
    − − π − + π + π ∈            

! . 

 
70. Решить уравнение 

25sin 4cos 0cos5sin 4ctg 0 5sin 4 0
sin sin 0

x xxx x x
x x

 − =
− = ⇔ − = ⇔ ⇔

≠
 

2 25(1 cos ) 4cos 0 5cos 4cos 5 0
sin 0 sin 0

x x x x
x x

 − − = + − =
⇔ ⇔ ⇔ 

≠ ≠ 
 

2 29cos решений нет
5 2 29 2 29cos cos52 29 5cos | cos | 15

sin 0

x
x x

x x
x

  − −= −   − +  − += ⇔ ⇔ ⇔ = ⇔ − +=  ≠ 
≠

 

2 29arccos 2
5

2 29arccos 2 :
5

x k

x k k

  − += + π     ⇔   − + = − + π ∈    
!

. 

Ответ: 2 29 2 29arccos 2 ; arccos 2 :
5 5

k k k
    − − − − − + π + π ∈            

! . 


